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OBJEC T1IVE
Note: You have four choices for cach objective type question as AL B U and D. The choice which yon e
is correct. fill that circle in front of that question number. Lse marker ar pen to fill the circles 4
or filling two more circles will result in zero mark m that question. Attempt as many guestions as i
in ohjective type guestion paper and leave others blank.
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11- Coordinates of mid-point of A(-1, 4), B(6, 2)

(A) (-7.2) (B) (7.-2) © (3.3) ® 3.7
12- If m,, m, are slopes of perpendicular lines, then m m, =

(A) 0 (B) -1 () 1 (undefined
13- [fuline meets x and y axesat 2,3 units, then its equation is

(A) 2x=3y =10 (B) 3x+2y -0 (€) :4-:20 OU_)] L.

‘N o 2 3

4. It P(7, 2) lies on circle with centre (-5, 3). then its radi 1@

(A) 13 (B) v13 ( é’ (DY 17
13- To find optimal solution we evaluate the nbﬁ‘gncliﬂn at

(A) one point (B} origin ) some points (D) comer point-

16- [ cngth of Latus Rectum ul‘Pan@iy is
' 3
{A) 3 (1\0 (Cy -~ (I 10
4
e

17- For hyperbola valu tricity ¢ 18
(A) 1 0 B) less than 1 (C) greater than | (N 0
2 .
18- Ifa=b tgquation —:-5—-# i—i =] represents
(A) ellipse (B) parabola (C) hyperbola (D} circle
10. Direction cosines of z-axis are
(A) [1,0,0] (B) {1,1,.1] (€) 10,1,0] (DY 0.0, 1)
20- I u=v,then u.(vxw) =
(A) 0 (B) 1 €y =l (D) cannot be calculaicd
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Mathematics (INTER PART 11)-418 PAPER: I
Time: 2:30 hours Marks: 80
SUBJECTIVE

Note: Section 1 is compulsory. Attempl any three (3) questions from Section Ll
SECTION |

2.  Write short answers to any EIGHT questions: (2 x¥= 1
.~ Define implicit function also write one example.
3
- Tor f{x)= ¥ determine whether given function is even or odd
x5+
s n
Lim -
iii-  Prove that: [14~| =¢
n—>+=% \ 0
iv- Find by detinition the dcm ative m x(x ~ 3) with respect to "X
v-  Find the derivative of (x% +5)x1 i DHwael X
: , i o dy R
¥vi- I ¥ 3 4 2x7 1 2 prove that = =4X \;'ynt
dx
- : > 1
vii- Differentiate 2=+ 5 Wb, X =
o8 X

— d sl
viil- Calculate s (cos VX ++/5INX)
x

ix- 1 tn):--:‘fn(a +e™*). Find £ix)

x- Find g if v=((ntanhx)
dx

xi- Find ¥, if x=acos0, y=asiné.
xii- Divide 20 into two parts 80 that the sumpof their squares will be maximum.

3. Write short answers to any EIGHT uestions: 2y 8- i
I Using differentials find d)-r- and 9“._ " }_2 I
dg dv "
- Lvaluate: 4N
L 4 C0s X

e Y
- Evaluate: j % dx .
¥ 3

v Evaluate: tun 'x dx .
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v-  Fvaluate: jmstdl
"
I
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vi-  [Lvaluate:

o ; . ] .
vii- Find the area between the X-ax1s and the curve y = cos—x from x = -T 0 T

—-—

vili- Define difTerential equation.

3 R : d
ix- Solve the differential equation 1—} = --:,-
3 [ X -y d}f X ot
x- Solve fe*+e )-- = ¢ —8
dx

xi- Define corer point.

xii- Graph 3x-2y26 in Xy - plane.
{Turn over:
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4. Write short answers to any NINE questions: {2x9- 1%,

i- By means of slope. prove that the points (-1.-3):(1,5); (2. 9) are collinear.
- TFind an equation of horizontal line through (7, -9)

iii-  Find an equation of the line through (5, -8) and perpendicular to the join of A(=15, -8, Hc1-
iv-  Find the distance of the pt(6, --1) from the line 6x - dy + 9=
¥* Find the lines represented by 6x° 19xy + 1532 = 0

VI* Find the focus and dircetrix of parabola x? = Sy

vii- Convert x + § - v+ 2y =0 into the standard form and find its vertex

i
oy Pl

vili-  Find an equation of the ellipse with vertices (0, +5), and ceeentricity
: %
s g ; : X ¥
X~ Find the focus and covertices of an ellipse ' 'I- =1
%= Decide whether the triples 45°, 45°. 60" are the direction angles of a vector oppot,
xi- Find the projection of vector a along vector b and projection of b along gl
A A F.3 M f fat
ifa=3i+j-k, b= ~2i-j+k
XB=1f v is a vector for which V.1 +<0,y.j=0,v.k=0. Fidl \e
Xiii- Verify that the vectors a and bxa are perpendicular 10 cach othery if

. M~ ~ A Fa Fa
a=J3i=j+35k b=4i4+3j-2k
SECTIONII
5-  (a) Find the values ‘m’ and ‘n’ so that giverMunetidn * - is contimuous at x = 3
j mx  if x<3)
fix)=4 n if x=314
-2X+9 if x@.3,
[x? 4
(b}  Differentiate: Nx,.?_m v ? x
x“—1

6- (a) Cvaluate: J-:{j &l
(b) Find theangles 6f the triangle whose vertices are A(=5,4), Bi-2, 1) and Ct7, -5)

T (2) Evaluate: cos? 0 cotl de

e R W T

-

(b) Minimize fix,v)= 3x =¥ subject wo the constraints *

I+ > 15 . X+6y 29 X=20,% 20

8- (a) Fing length of the chord cut ol from the line 2x + 3y =13 by the circle x2 4 ¥ =36 5

{b) Find the angle between the following vectors: y= A-jrk, ¥= i+j A
9-  (a) Find the centre. foci. eccentricity, vertices and equations of directrices of hyperhola R
X2y }
4 9
(b) Find the volume of the tetrahedron whose vertices are 5

A2,1,8) ., B(3,2, 9. C@2.14), D3,3,0)
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